the T4 A2 ABCD & AAZ ol B
2. A7} AFDE L B ol
DE = 6xcm, AE = (3x + 2y)cm, CF = A

(14 = x)em & ™, x +y 9] 7427




ABCOMED, E, F=Z4HS2: 12 Y
sl Holt}, AADF = 4cm? 9 o, ADEF
o] yol&=?

32 46

@ gcmz @ T @y ow

~~_9--"E~1-



H7] SOl Mz g2 =g 25 B A7

o
=

=

3.

@ 6 71 @ 77 @ 87 ® 4 7

® 5 7}



ofr

=dal eteh o] W, Az RtEE AawA| o] RA 272

—_————_——-

@ 3

O 2



(ABE = (ACD,
(CAD d

= <H 7>

= =3 7
2l %
=7

(BAE

=)
-‘Eom
s go sl Lo
o

H7]

& AABC ¢ AAED
© AAFD o ACFB

@ AABC ¢ AADC

O AAEF & ADFC
® AABF ¢ AADE

® AABE ¢ AACD

©o6e 006

®6.6e ®e6e 006



t}& 1P ofA /BAD = /CBE = /ACF ©]
I, AB=7 BC=28, CA=9¢%Tt DE:
EF 297

D o9:8 @ 9:7 ®7:9

@ 8:7 ® 7:8




7. ©& 1”4 DE//BC, FE//DC ©|ttf. oluf, x o] Zo]&?

@ 3 @ 32 ® 3.6 @ 4 ® 4.2



iﬁ}ﬂ% ABCD 9|4 & G, E, F = Z+z}
AD, BD, BC 9] &3oItt. AGEF ©] {o]
£ FotH?

@D 1em? @ 2cm? ® 3cm? @ 4cm? ® 5cm?



2 AABC 94 H P,Q & &tz & 541 AD BE 9 S4o|tt

AABC = 48cm? ¥ ©, oDEPQ 9] §°]& o}H?

© 7em? @ 9cm? ® 10cm?

@ 12cm? ® 13cm?



10. HPAHHSY ABCD oA ¥ E,F += 22 §1 BC,CD 9] $3o|1
G,H = 247} tiZH4 BD ¢} AE, AF 9] @3olch. AAGH 2] Hol7t
10 & o, ACFE 9] §o|& 5tH?

e
B

B E C

D 2 @ 4 ® 6 @ 7.5 ® 10



11.

ohe 93 @ol HYAEY ABCD o F
27 A oA /D o] o584

O 40° @ 45° @ 50° @ 55°




12.

B F C

7}4) DABCD &= ®#HAIHE, /ABE = /(EBC, /EDF =
(FDC

ZAZ) oEBFD = HJPAIHH
%) DABCD = HPAHA S
Z, /EBF = /EDF

(AEB = (EBF, (EDF = (CFD ((____]jol2=&
/AEB = /CFD, /DEB = /180° - /ZAEB = ]
et oEBFD = B 3AA G ol

ojlmg 1zB = 1AD
2 2

O 597 /FBD @ %97} /BDF ® 97, /DFB

@ <1z}, /FBD ® 9z, /DFB



13. g 23T 22 HAZE ABCD YA BE = CFolth. aABP =
40 cm? ¥ @, oPECF 9] ¥ o|& F5toizt.

A D
F
P
B E C
D 32cm? @ 34cm? ® 36cm?

@ 38cm? ® 40 cm?



14. ohg 297 2 Skl Eel4 AD//EF//BCelth. AG : GH =
3 :20°]1 oAEFD ¢} oEBCF 9] go|7} Z-& o, EF 9] Zo]& o}
oje},

@ 10em @ 1llem @ 12cm @ 13cm @ 1l4dem



el

=
=]

AP, AtotE]E, bt

2

4042, B

’

e ANaY

o
=]

15. o

ol
BN
9l

ol

Ith. Aoz

7/10

b

=
=

Aol o] 2

o

el

o



